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QUESTION 1

A SteelHead in an Interceptor cluster notifies the Interceptor that it is under high pressure. How many credits are
reduced for that SteelHead?

A. 0%

B. 10%
C. 20%
D. 30%
E. 50%

Correct Answer: B

QUESTION 2

Which of the following control messages are NOT used by WCCP? (Select 2)
A. PEEK_A_BOO

B.|_SEE_YOU

C. REDIRECT_ASSIGN

D. REMOVAL_QUERY

E. KEEPALIVE

Correct Answer: AE

QUESTION 3

A SteelHead is running RiOS v8.6 and has an inpathO_0 IP address of 192.168.1.10. It is later upgraded from v8.6 to
v9.0. As part of an IT project, the inpathO_0 IP address is changed to 10.10.10.10 and the configuration saved. Some
time passes and the administrator decides to revert to RiOS v 8.6. It hasn\\'t been factory reset. The appliance boots
and the Management Console User Interface is reachable, however, optimization no longer works. What has
happened?

A. The web GUI SSL certificate is no longer trusted and the services require a restart.

B. The licenses are no longer valid and will need to be replaced and the services restarted.

C. Itis not possible to revert to older versions of RiOS and the optimization service has stopped as a precaution.

D. The configuration has reverted to the one running under v8.6 and the inpathO_0 IP address is back to

192.168.1.10.
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E. The configuration has been lost and the appliance is running factory default settings.

Correct Answer: D

QUESTION 4
What are an Interceptor appliance\\'s main functions? (Select 2)
A. Provides a way to intercept and redirect interesting traffic for optimization

B. Monitors multiple links and redirect interesting traffic over a cluster of Steelhead appliances in a logical in-path
deployment

C. Replaces any existing Layer 4 switch in a given environment
D. Used to configure and work with WCCP and PBR
E. Required component Steelhead appliances in all Steelhead appliance deployments

Correct Answer:. AB

QUESTION 5

The adaptive data streamlining settings are:

A. Default , RiOS SDR- L, RiOS SDR-M

B. Default , RiOS DSR- Adaptive, RiOS DSR-M

C. Default , RiOS SDR- Adaptive, RiOS SDR-M

D. Default, RiOS SDR- Adaptive, RiOS SDR-L

E. RiOS SDR- Adaptive, RiOS SDR-L, RiOS DSR-M

Correct Answer: C
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